iMac Pro VESA Mount Adapter

With the VESA Mount Adapter installed, you can use your 27-inch iMac Pro with

a variety of VESA-compliant mounting solutions, such as articulating arms or wall
mounts. Use the adapter only with a VESA mount that can support the weight of
your iMac Pro (21.5 pounds or 9.75 kilograms). Follow these instructions to install
the VESA adapter on the back of your iMac Pro.* You can then attach your iMac Pro
to a VESA-compliant mounting solution. Make sure the VESA mount you use
complies with the VESA FDMI (MIS-D, 100, c) version specification.

Your VESA Mount Adapter Kit contains:

VESA bracket Access card

T10 Tool
M2.5 x 0.45 mm
° ° bracket screws (2)
o o o () o M4 x 0.7 mm
I I flange screws (5)
VESA flange

You'll also need a soft cloth and a flat work
surface, at least 30 inches by 30 inches
(approximately 76 cm x 76 cm).

*Some markings on VESA Mount Adapter apply only to iMac Pro. English

1



1.
Disconnect the Power

Turn off your iMac Pro and disconnect the power cord
and all cables.

2 English

2.
Orient Your iMac Pro

Drape a clean soft cloth on a flat surface. Holding the
sides of your iMac Pro, carefully place it so that the
screen is resting on the cloth.

Align the bottom of the iMac Pro display with the
work surface so that the stand hangs over the edge.

Gently push down on the stand until it stops.



3.
Expose the Screws

To unlock the stand, insert the access card above
the stand hinge at an angle to engage and depress
the latch. Insert the card up to zone @ marked on
the card, then push the stand down farther to
expose the screws.

If the card goes in past zone @, you've missed the
latch, so try again.

WARNING: Use only the access card provided with
the kit for this step. Use of any other object or
instrument could damage your iMac Pro or possibly
result in personal injury.

English 3



4.
Detach the Stand

Use the T10 tool to remove the screws on the stand.
Remove the center screw last while gently supporting
the stand. Store the screws and the stand in a safe
place in case you want to reattach them.

Important: Do not insert the access card after the
stand is removed from your iMac Pro.

4  English



5.

Attach the VESA Flange

Align the slots in the flange with the pins on the back
of your iMac Pro. Use the T10 tool and the included
five M4 x 0.7 mm screws to attach the flange.

English 5



6.
Attach the VESA Bracket

Place the VESA bracket over the flange until the
pins on the flange align with the pockets in the bracket.
The bracket should drop into place and not move
easily. Use the T10 tool to screw in the included
M2.5 x 0.45 mm screws until they are flush with

the bracket.

Note: To reattach the stand to your iMac Pro, reverse
the instructions in these steps. It's important to insert
the included access card to raise the stand to its
original position after you reattach it to the computer.

6 English

7.
Attach Your iMac Pro to the Mounting Solution
Follow the instructions included with your
VESA-compliant mounting solution. Make sure you
mount your iMac Pro so that the bottom or back
ventilation openings aren’t blocked. Do not place the
iMac Pro where ventilation is restricted (for example,
in a cabinet).

8.
Reconnect the Power
Connect the power cord and cables to your iMac Pro.



Adaptateur de montage VESA pour iMac Pro

L'installation de I'adaptateur de montage VESA vous permet d'utiliser votre

iMac Pro 27 pouces avec différentes solutions de montage compatibles VESA telles que
des bras articulés ou des supports muraux. Cet adaptateur ne peut étre utilisé qu'avec
une monture VESA capable de supporter le poids de votre iMac Pro (9,75 kg). Suivez les
instructions ci-dessous pour installer I'adaptateur VESA a l'arriére de votre iMac Pro.*
Vous pourrez ensuite fixer votre iMac Pro sur une solution de montage compatible VESA.
Assurez-vous que la monture VESA utilisée est conforme aux spécifications de la norme
VESA FDMI (MIS-D, 100, c).

Contenu de votre kit d’adaptateur de montage VESA :

Support VESA Carte d'accés

Outil T10
° ° M2,5 x 0,45 mm
vis du support (2)
M4 x 0,7 mm
o I o ° ° I d vis de la bride (5)
Bride VESA

Vous aurez également besoin d’'une piece de
tissu doux et d'une surface de travail plane
d’environ 76 cm x 76 cm au minimum.

* Certaines marques sur I'adaptateur de montage VESA ne s'appliquent qu‘a I'iMac Pro. Frangais 7



1. 2.

Mise hors tension Orientation de votre iMac Pro

Eteignez votre iMac Pro et débranchez le cordon Posez une piéce de tissu doux sur votre surface de
d‘alimentation et tous les autres cébles. travail plane. Tenez votre iMac Pro par les cotés et

déposez-le doucement de sorte que I'écran repose
sur la piece de tissu.

Alignez le bas de I'écran de I'iMac Pro sur la surface
de travail afin que le pied dépasse du bord.

Poussez doucement le pied vers le bas jusqu‘a ce qu'il
se bloque.

8 Frangais



3.

Acceés aux vis

Pour libérer le pied, insérez la carte d'acces
au-dessus de la charniére du pied en I'inclinant pour
enclencher et enfoncer le loquet. Insérez la carte
jusqu'a la zone @ indiquée dessus, puis poussez le
pied encore plus bas pour accéder aux vis.

Si la carte s’enfonce plus loin que la zone @, vous
avez manqué le loquet et vous devez réessayer.

ATTENTION : Cette opération ne peut étre effectuée
qu'avec la carte d'accés incluse dans le kit. Toute
utilisation d'un objet ou d'un instrument différent
risque d'endommager votre iMac Pro ou de provoquer
des blessures.

Francais 9



4.
Détachement du pied

Utilisez I'outil T10 pour retirer les vis du pied. Retirez la
vis centrale en dernier tout en soutenant délicatement
le pied. Rangez les vis et le pied dans un endroit sr si
vous envisagez de les remettre en place.

Important : Evitez d'insérer la carte d’accés apreés
avoir retiré le pied de votre iMac Pro.

10 Francais



5.

Fixation de la bride VESA

Alignez les trous de la bride sur les broches situées a
I'arriere de votre iMac Pro. Utilisez I'outil T10 et les
cing vis M4 x 0,7 mm incluses pour fixer la bride.

Frangais 11



6.
Fixation du support VESA

Placez le support VESA sur la bride de sorte que les
broches de cette derniére soient alignées sur les
ouvertures du support. Le support doit s'emboiter
parfaitement et tenir fixement en place. Utilisez I'outil
T10 pour serrer les vis M2,5 x 0,45 mm incluses
jusqu'a ce qu'elles soient de niveau par rapport au
support.

Remarque : Pour remettre le pied de votre iMac Pro,
suivez les instructions ci-dessus dans I'ordre inverse.
Il est important d'insérer la carte d'acces incluse pour
remettre le pied dans sa position d'origine aprés I'avoir
rattaché a I'ordinateur.

12 Frangais

7.
Fixation de votre iMac Pro sur la solution de montage
Suivez les instructions fournies avec votre solution de
montage compatible VESA. Montez votre iMac Pro en
veillant a ne pas bloquer les ouvertures de ventilation
situées au bas et a l'arriere de I'unité. N'installez pas
I'iMac Pro dans un endroit ou la ventilation est limitée
(comme dans une armoire).

8.
Remise sous tension
Branchez le cordon d'alimentation et les autres cables

sur votre iMac Pro.



Sélo para México: Favor de leer este instructivo antes de utilizar el equipo. Modelo: A1862

Adaptador para soporte VESA del iMac Pro

Tras instalar el adaptador para soporte VESA, podras utilizar el iMac Pro de 27 pulgadas
con diversas soluciones de montaje VESA, como brazos articulados o soportes de pared.
Utiliza el adaptador solo con soportes VESA adecuados para el peso del iMac Pro

(9,75 kg 0 21,5 Ib). Sigue estas instrucciones para colocar el adaptador VESA en la parte
posterior del iMac Pro.* A continuacidn, acopla el iMac Pro a una solucién de montaje
VESA. Asegurate de que el soporte VESA que utilices cumpla las especificaciones de la
version del estandar FDMI VESA (MIS-D, 100, c).

El kit del adaptador para soporte VESA contiene los accesorios siguientes:

Soporte VESA Tarjeta de desblogueo

Llave T10
o ° M2,5 x 0,45 mm

Tornillos para
el soporte (2)

) ) ) () () M4 x 0,7 mm
Tornillos para
la brida (5)
Brida VESA

Asimismo, necesitards un pafio suave y una superficie
de trabajo plana de 30" x 30" (76 cm x 76 cm
aproximadamente) como minimo.

*Algunas marcas del adaptador para soporte VESA son solo para el iMac Pro. Espafiol 13



1.

Desenchufa el cable de alimentacion

Apaga el iMac Pro, desenchufa el cable de
alimentacion y desconecta cualquier otro cable del
ordenador.

14 Espafiol

2.
Coloca el iMac Pro en la posicién adecuada

Cubre la superficie plana con un pafio suave y limpio.
Sujeta el iMac Pro por los laterales y coldcalo boca
abajo con cuidado, de modo que la pantalla descanse
sobre el pafo.

Alinea la parte inferior de la pantalla del iMac Pro con
la superficie de trabajo, de forma que la base cuelgue
por el borde.

Empuja la base hacia abajo con cuidado hasta que
se detenga.



3.
Deja los tornillos al descubierto

Para desbloquear la base, inserta la tarjeta de
desbloqueo por encima de la bisagra de la base en un
angulo en el que la tarjeta pueda llegar hasta el seguro
y presionarlo. Inserta la tarjeta hasta la marca de la
zona @ v, a continuacién, empuja la base hacia abajo
un poco mas para dejar los tornillos al descubierto.

Si al insertar la tarjeta sobrepasas la zona @, te has
pasado de largo del seguro y tendras que volver a
intentarlo.

Advertencia: Utiliza solo la tarjeta de desbloqueo

que se proporciona con el kit para realizar este paso.
Si utilizas cualquier otro objeto o herramienta, podrias
llegar a lesionarte o podrias dafiar el iMac Pro.

Espafiol

15



4.
Desmonta la base

Utiliza la llave T10 para poder retirar los tornillos de la
base. Por Ultimo, retira el tornillo central mientras
sujetas la base. Guarda los tornillos y la base en un
lugar seguro por si quieres volver a montarla.

Importante: No insertes la tarjeta de desbloqueo una
vez hayas retirado la base del iMac Pro.

16 Espafiol



5,

Coloca la brida VESA

Alinea las ranuras de la brida con las patillas de la
parte posterior del iMac Pro. Utiliza la llave T10 y los
cinco tornillos M4 x 0,7 mm que se incluyen para fijar
la brida.

Espafiol 17



6.
Monta el soporte VESA

Coloca el soporte VESA sobre la brida hasta que las
patillas de la brida estén alineadas con los orificios del
soporte. El soporte deberia quedar ajustado en su
sitio y no deberia moverse facilmente. Utiliza la llave
T10 para atornillar los tornillos M2,5 x 0,45 mm que se
incluyen hasta que estén nivelados con el soporte.

Nota: Para volver a montar la base en el iMac Pro,
sigue los pasos indicados en estas instrucciones en
orden inverso. Es importante que insertes la tarjeta de
desbloqueo incluida para elevar la base hasta su
posicion original una vez montada.

18 Espafiol

7.
Acopla el iMac Pro a la solucién de montaje

Sigue las instrucciones que se incluyen con la
solucién de montaje VESA. Monta el iMac Pro de
modo que las aberturas de ventilacién de la parte
inferior o trasera no queden bloqueadas. No coloques
el iMac Pro en lugares en los que no haya una
ventilacion adecuada (por ejemplo, dentro de un
armario).

8.

Vuelve a enchufar el cable de alimentacion

Enchufa el cable de alimentacién y conecta los demas
cables al iMac Pro.



Adaptador de Montagem VESA para iMac Pro

Com o Adaptador de Montagem VESA instalado, vocé pode usar o iMac Pro

de 27 polegadas com diversas solugdes de montagem VESA compativeis, como bragos
articulados ou suportes de parede. Use o adaptador apenas com um suporte VESA que
seja capaz de suportar o peso do iMac Pro (9,75 quilos). Siga estas instru¢8es para
instalar o adaptador VESA na parte traseira do iMac Pro.* Depois disso, vocé podera
prender o iMac Pro a uma solugéo de montagem VESA compativel. Certifique-se de
que o suporte VESA usado esteja em conformidade com a especificagdo da versédo
VESA FDMI (MIS-D, 100, c).

O Kit do Adaptador de Montagem VESA contém:

Suporte VESA Cartdo de acesso

Ferramenta T10
[+ (-] Parafusos M2.5 de
0,45 mm do
suporte (2)
) () ) o ) Parafusos M4 de
I I 0,7 mm da guia (5)
Guia VESA

Vocé também precisard de um pano macio e uma
superficie de trabalho plana de, no minimo,
76 cm x 76 cm.

*Algumas marcagdes do Adaptador de Montagem
VESA aplicam-se somente ao iMac Pro. Portugués do Brasil 19



1. 2

Desconecte a Alimentagéo Posicione o iMac Pro
Desligue o iMac Pro, desconecte o cabo de Forre uma superficie plana com um pano limpo e
alimentagdo e todos os outros cabos. macio. Segure o iMac Pro pelas laterais e coloque-o

cuidadosamente com a tela repousada no pano.
Alinhe a parte inferior da tela do iMac Pro com a
superficie de trabalho, de forma que a base fique
além da borda da mesa.

Empurre a base para baixo suavemente até que
ela pare.

20 Portugués do Brasil



3.
Exponha os Parafusos

Para soltar a base, insira o cartdo de acesso inclinado
por cima da dobradiga da base para que ele encontre
e pressione o trinco. Insira o cartdo até a zona @
(indicada no cartdo) e puxe a base mais para baixo
para expor os parafusos.

Se o cart&o passar da zona @, vocé ja passou do
trinco. Tente novamente.

AVISO: use apenas o cartdo de acesso fornecido com
o kit para realizar este passo. O uso de qualquer outro
objeto ou instrumento poderia danificar o iMac Pro ou,
possivelmente, resultar em lesdes corporais.

Portugués do Brasil 21



4.
Solte a Base

Use a ferramenta T10 para remover os parafusos da
base. Remova o parafuso central por Ultimo,
segurando a base cuidadosamente. Armazene os
parafusos e a base em um local seguro, caso deseje
reutiliza-los.

Importante: n&o insira o cartdo de acesso depois de
remover a base do iMac Pro.

22 Portugués do Brasil



5.
Prenda a Guia VESA

Alinhe as aberturas da guia com os pinos na parte
traseira do iMac Pro. Use a ferramenta T10 e os cinco
parafusos M4 de 0,7 mm fornecidos para

prender a guia.

Portugués do Brasil 23



6.
Prenda o Suporte VESA

Posicione o suporte VESA sobre a guia até que os
pinos da guia estejam alinhados com as entradas do
suporte. O suporte deve se encaixar no local e ndo
mover facilmente. Use a ferramenta T10 para apertar
os parafusos M2.5 de 0,45 mm fornecidos até que
eles se alinhem ao suporte.

Nota: para prender a base ao iMac Pro novamente,
siga os passos destas instrugdes em reverso. Depois
de prender a base ao computador novamente, é
importante inserir o cartdo de acesso fornecido para
levantar a base de volta a sua posigédo original.

24 Portugués do Brasil

7.
Prenda o iMac Pro a Solugdo de Montagem

Siga as instrugdes fornecidas com a solugdo de
montagem VESA compativel. Certifique-se de que o
iMac Pro seja montado de forma que as aberturas de
ventilagédo traseira e inferiores nao fiqguem
bloqueadas. N3o coloque o iMac Pro em locais de
ventilagdo limitada (como em um armario).

8.

Reconecte a Alimentagao

Conecte o cabo de alimentagéo e todos os outros
cabos ao iMac Pro.



iMac Pro mit VESA-Montageadapter

Mit dem installierten VESA-Montageadapter kannst du deinen 27" iMac Pro mit
zahlreichen VESA-kompatiblen Montagel6sungen wie Schwenkarmen und
Wandhalterungen verwenden. Verwende den Adapter nur mit einer VESA-Halterung, die
das Gewicht deines iMac Pro (9,75 kg) tragen kann. Befolge diese Anleitungen, um den
VESA-Adapter an der Rickseite deines iMac Pro* zu installieren. AnschlieBend kannst du
deinen iMac Pro an einer VESA-kompatiblen Montageldsung befestigen. Vergewissere
dich, dass die verwendete VESA-Halterung mit den Spezifikationen fir die VESA FDMI
(MIS-D, 100, c) Version kompatibel ist.

Das VESA-Montageadapter-Kit enthalt:

VESA-Halterung Zugangskarte

T10-Werkzeug
° ° M2,5 x 0,46 mm
Schrauben fur
Halterung (2)
) () ) o ) M4 x 0,7 mm
I I Flanschschrauben (5)
VESA-Flansch

AuBerdem benétigst du ein weiches Tuch und eine
ebene Arbeitsflache mit einer GroBe von
ungefahr 76 cm x 76 cm.

*Einige Markierungen auf dem VESA-Montageadapter gelten nur fir den iMac Pro. Deutsch 25



1.
Stromzufuhr unterbrechen

Schalte deinen iMac Pro aus und ziehe das Netzkabel
und alle anderen Kabel heraus.

26 Deutsch

2.
iMac Pro positionieren

Lege ein sauberes, weiches Tuch auf eine ebene
Flache. Halte deinen iMac Pro an den Seiten und lege
ihn vorsichtig mit dem Bildschirm nach unten auf

das Tuch.

Richte die Unterkante des iMac Pro-Bildschirms mit
der Arbeitsflache aus, sodass der StandfuB Uber den
Tischrand hinaus ragt.

Driicke den StandfuB behutsam nach unten, bis
er stoppt.



3.
Schrauben freilegen

Flhre zum Entriegeln des StandfuBes die Zugangskarte
Uber dem Scharnier des StandfuBes leicht angewinkelt
ein, um die Verriegelung I6sen und herunterdriicken zu
kénnen. Fuhre die Karte bis zu der auf der Karte
markierten Zone @ ein und driicke den StandfuB weiter
nach unten, um an die Schrauben zu gelangen.

Lasst sich die Karte tUber Zone @ hinaus einfuhren,
hast du die Verriegelung nicht getroffen. Versuche es
daher erneut.

ACHTUNG: Verwende bei diesem Arbeitsschritt nur
die mit dem Kit gelieferte Zugangskarte. Durch
Verwenden eines anderen Objekts oder Instruments
kann dein iMac Pro beschadigt werden oder du kannst
dich verletzen.

Deutsch

27



StandfuB abnehmen

Verwende das T10-Werkzeug, um die Schrauben am
StandfuB zu I6sen. Entferne die mittlere Schraube als
letzte und stutze dabei den StandfuB etwas. Bewahre
die Schrauben und den StandfuB an einem sicheren
Platz fur den Fall auf, dass du ihn wieder

installieren méchtest.

Wichtig: Flhre die Zugangskarte nach dem Entfernen
des StandfuBes von iMac Pro nicht mehr ein.

28 Deutsch



5.

VESA-Flansch befestigen

Richte die Aussparungen im Flansch mit den Stiften
an der Rickseite deines iMac Pro aus. Verwende das
T10-Werkzeug und die mitgelieferten funf

M4 x 0-7-mm-Schrauben, um den Flansch zu
befestigen.

Deutsch 29



6.

VESA-Halterung befestigen

Platziere die VESA-Halterung so tUber dem Flansch,
dass die Stifte am Flansch mit den Aussparungen an
der Halterung ausgerichtet sind. Die Halterung sollte

sich ausrichten und nicht mehr leicht bewegen lassen.

Verwende das T10-Werkzeug, um die mitgelieferten
M2,5 x 0,45-mm-Schrauben festzudrehen, sodass sie
flach mit der Halterung abschlieRen.

Hinweis: Flhre die Anleitungen in umgekehrter
Reihenfolge aus, um den StandfuB wieder an deinem
iMac Pro zu befestigen. Es ist wichtig, die
mitgelieferte Zugangskarte einzufiihren, um den
StandfuB nach dem Befestigen am Computer wieder
in seiner Originalposition aufzurichten.

30 Deutsch

7.
iMac Pro an der Montagel6sung befestigen

Befolge die Anleitungen, die du mit deiner
VESA-kompatiblen Montagelésung erhalten hast.
Achte bei der Installation des iMac Pro darauf, dass
die Luftungsoéffnungen an der Unter- bzw. Rickseite
nicht blockiert werden. Platziere den iMac Pro nicht an
einem Ort, an dem die Luftzirkulation nur
eingeschrankt moglich ist (etwa in einem Schrank).

8.

Stromzufuhr wieder herstellen

SchlieBe das Netzkabel und alle anderen Kabel wieder
am iMac Pro an.



Adattatore di montaggio VESA per iMac Pro

Grazie all'adattatore di montaggio VESA, puoi utilizzare iMac Pro da 27" con una vasta
gamma di soluzioni di montaggio compatibili con lo standard VESA, come bracci articolati
e supporti da parete. Utilizza I'adattatore solamente con supporti VESA che possano
sostenere il peso di iMac Pro (9,75 chilogrammi). Segui queste istruzioni per installare
I'adattatore VESA sul retro di iMac Pro.* Successivamente potrai fissare iMac Pro a una
soluzione di montaggio compatibile con lo standard VESA. Assicurati che il supporto
VESA che utilizzi soddisfi le specifiche della versione VESA FDMI (MIS-D, 100, c).

1l kit adattatore di montaggio VESA include:

Staffa VESA Scheda di accesso

Strumento T10

M2,5 x 0,45 mm
Viti staffa (2)

M4 x 0,7 mm
Viti flangia (5)

Flangia VESA

Ti occorrera anche un panno morbido e una
superficie di lavoro piana di almeno
76 cm x 76 cm (circa 30" x 30").

*Alcuni dei segni presenti sull'adattatore di montaggio
VESA sono applicabili solo a iMac Pro. Italiano 31



1

32

Scollega I'alimentazione
Spegni iMac Pro e scollega il cavo di alimentazione e
tutti gli eventuali altri cavi.

Italiano

2.
Orienta iMac Pro

Stendi un panno morbido e pulito su una superficie
piana. Tenendo iMac Pro per i lati, appoggialo
delicatamente con lo schermo rivolto verso il panno.

Allinea il lato inferiore del monitor di iMac Pro alla
superficie di lavoro in modo tale che il supporto
sporga dal bordo.

Spingi delicatamente il supporto verso il basso finché
non si ferma.



3.
Scopri le viti

Per sbloccare il supporto, inserisci la scheda di
accesso in obliquo sopra il cardine, in modo da
agganciare e spingere la leva di chiusura. Inserisci la
scheda fino alla zona contrassegnata con @, quindi
spingi ulteriormente il supporto fino a scoprire le viti.

Se la scheda supera la zona contrassegnata con @,
non hai agganciato la leva di chiusura e dovrai ripetere
|'operazione.

ATTENZIONE: Utilizza solo la scheda di accesso
fornita con il kit per questo passaggio. L'utilizzo di
qualsiasi altro oggetto o strumento potrebbe
danneggiare iMac Pro o causare lesioni personali.

Italiano 33



4.

Rimuovi il supporto

Utilizza lo strumento T10 per rimuovere le viti del
supporto. Rimuovi la vite centrale per ultima,
sorreggendo delicatamente il supporto. Conserva le
viti e il supporto in un luogo sicuro, nel caso tu volessi
montarli di nuovo.

Importante: Non inserire la scheda di accesso una
volta che il supporto & stato rimosso da iMac Pro.

34 |Italiano



5.

Fissa la flangia VESA

Allinea le fessure della flangia con i piedini sul retro
di iMac Pro. Utilizza lo strumento T10 e le cinque viti
M4 x 0,7 mm per fissare la flangia.

Italiano 35



6.
Fissa la staffa VESA

Posiziona la staffa VESA sopra la flangia in modo tale
che i piedini della flangia si allineino con le fessure
nella staffa. La staffa dovrebbe incastrarsi e non
muoversi facilmente. Utilizza lo strumento T10 per
stringere le viti M2,5 x 0,45 mm fornite finché non
sono in piano con la staffa.

Note: Per fissare nuovamente il supporto a iMac Pro,
segui i passaggi di queste istruzioni in ordine inverso.
E importante inserire la scheda di accesso fornita per
alzare il supporto nella posizione originale una volta
che & stato nuovamente fissato al computer.

36 lItaliano

7.
Fissa iMac Pro alla soluzione di montaggio

Segui le istruzioni fornite con la tua soluzione di
montaggio compatibile con lo standard VESA.
Assicurati di fissare iMac Pro in modo da non ostruire
le aperture di ventilazione della parte inferiore o
posteriore. Non posizionare iMac Pro in un luogo poco
ventilato (ad esempio, in un armadio).

8.

Ricollega l'alimentazione

Collega il cavo di alimentazione e gli altri cavi a
iMac Pro.



Adapter uchwytu VESA do iMaca Pro

Zainstalowanie adaptera uchwytu VESA umozliwia montowanie 27-calowego iMaca Pro
do wielu réznych systeméw mocowania zgodnych ze standardem VESA, takich jak stojaki
przegubowe lub uchwyty Scienne. Adapter ten przeznaczony jest wytacznie do uzytku

z systemami mocowania VESA dostosowanymi do wagi iMaca Pro (9,75 kilograma). Aby
zamontowac¢ adapter uchwytu VESA z tytu iMaca Pro*, postepuj zgodnie z ponizszymi
instrukcjami. Nastepnie bedzie mozna zamontowac iMaca Pro do systemu mocowania
VESA. Upewnij sie, ze Twdj uchwyt VESA jest zgodny ze specyfikacja VESA FDMI

(MIS-D, 100, ¢).

Zestaw adaptera uchwytu VESA zawiera:

Wspornik VESA Karta dostepu

Narzedzie T10

[-) () Sruby wspornika
M2,5 x 0,45 mm
(2 sztuki)

o o o o o Sruby kotnierza

M4 x 0,7 mm
(5 sztuk)
Kotnierz VESA

Potrzebna bedzie takze migekka tkanina oraz
ptaska powierzchnia robocza o wymiarach co
najmniej 76 cm na 76 cm.

*Niektore oznaczenia na uchwycie VESA dotycza tylko iMaca Pro. Polski 37



1.
Odtacz zasilanie

Wytgcz iMaca Pro i odtgcz kabel zasilania oraz
wszystkie inne przewody.

38 Polski

2.
Ustaw iMaca Pro

Roztéz na ptaskiej powierzchni czysta, miekka tkanine.
Chwy¢ iMaca Pro za boki i ostroznie potéz go na tej
tkaninie ekranem w doét.

Wyréwnaj spéd ekranu iMaca Pro z krawedzig
powierzchni roboczej, aby podstawka zwisata poza
te krawedz.

Delikatnie popchnij podstawke w ddt, az sie zatrzyma.



3.
Odston $ruby

Aby odblokowaé podstawke wsur karte dostepu

w szczeling nad zawiasem podstawki (pod katem), aby
nacisnaé i zwolni¢ zatrzask. Wsun karte do miejsca
oznaczonego na niej cyfrg @, a nastepnie popchnij
podstawke w dét, aby odstonic $ruby.

Jesli karta wchodzi gtebiej, do miejsca oznaczonego
cyfra @, oznacza to ominigcie zatrzasku i konieczno$¢
ponownej préby.

OSTRZEZENIE: Krok ten wykonuj wytacznie przy
uzyciu karty dostgpu dotagczonej do zestawu. Uzycie
innego obiektu lub narzedzia moze uszkodzié¢

iMaca Pro lub spowodowaé obrazenia.

Polski

39



4.
Odmontuj podstawke

Wykrec¢ sruby z podstawki, uzywajac narzedzia T10.
Jako ostatnig wykre¢ érodkowa $rube, jednoczesnie
delikatnie podtrzymujac podstawke. Umies¢ éruby

i podstawke w bezpiecznym miejscu, na wypadek
koniecznosci ich ponownego montazu.

Wazne: Po odmontowaniu podstawki iMaca Pro nie
wsuwaj do jego wnetrza karty dostepu.

40 Polski



5.
Zamontuj kotnierz VESA

Wyréwnaj otwory w kotnierzu z trzpieniami z tytu
iMaca Pro. Do zamontowania kotnierza uzyj narzedzia
T10 oraz pigciu dotgczonych $rub M4 x 0,7 mm.

Polski 41



6.
Zamontuj wspornik VESA

Umies$¢ wspornik VESA na kotnierzu, wyréwnujac
trzpienie kotnierza z otworami we wsporniku.
Wspornik powinien osigé¢ nieruchomo. Przykreé
dotagczone éruby M2,5 x 0,45 mm przy uzyciu
narzedzia T10, wyréwnujac je z powierzchnig
wspornika.

Uwaga: Aby ponownie zamontowac¢ podstawke do
iMaca Pro, wykonaj powyzsze kroki w odwrotnej
kolejnosci. Wazne jest, aby po zamontowaniu
podstawki wsunac dotaczong karte dostepu,
pozwalajaca na uniesienie podstawki do jej
oryginalnego potozenia.

42  Polski

7.
Zamontuj iMaca Pro do systemu mocowania
Postepuj zgodnie z instrukcjami dotgczonymi do
systemu mocowania VESA. Podczas montazu

iMaca Pro zwrd¢ uwage, aby dolne i tylne otwory
wentylacyjne nie zostaty zablokowane. Nie umieszczaj
iMaca Pro w miejscu z ograniczonym przeptywem
powietrza (na przyktad w szafce).

8.

Podtgcz ponownie do zasilania

Podtacz do iMaca Pro kabel zasilania oraz
inne przewody.



MoHTaXxHbIN aganTep VESA gnda iMac Pro

MoHTaxHbIn aganTep VESA npefHasHayeH ons yCTaHOBKM 27-Al0MMOBbIX KOMMbOTEPOB
iMac Pro Ha pasnuyHble coBMecTuMble ¢ VESA MexaHn3Mbl AN KpenaeHns MOHUTOPOB,
Takue Kak LapHUpHble AiepxaTenn Unn HacTeHHble Kpennenus. AganTtep cneagyet
MCMONb30BaTh TObKO B COYETAHMM C MeXaHM3MOM Ang kpenneHns VESA, cnocobHbIM
BblAepXMBaTb Bec iMac Pro (9,75 kr). [lns ycTaHoBKKW agantepa VESA Ha 3agHei
noBepxHocTu iMac Pro* cnefyinTe fAaHHbIM UHCTPYKUMAM. OHM MoMoryT Bam 3akpenuTb
iMac Pro B MexaHu3me ans kpenneHuns VESA. YéeanTechb, 4To MexaHn3M Ans KpenneHus
VESA, KoTopblIli Bbl cnofib3yeTe, COBMECTUM co crneumnourkaunei sepcum VESA FDMI
(MIS-D, 100, c).

B KoMnieKT MOHTaxHoro agantepa VESA BxoasT:

NepxaTtens VESA KapTouka ans oTkpbITUS 3aLienku dukcaumm NnoacTaBku

WHcTpymeHT T10

M2,5 x 0,45 MM
BuHTbI ans
nepxarens (2)

M4 x 0,7 MM
BuHTbI ons
dnaHua (5)

®naHeu, VESA

BaM Takxe NoHapo6TCs Markas TkaHb 1 nnockas
pa6oyasi NOBEPXHOCTb Pa3MepPOM He MeHee
4YeM 76 cM x 76 cMm.

*HekoTopble METKM Ha MOHTaxHOM afantepe VESA
MCNONb3yTCs TONbKO ANg KpenneHus iMac Pro. Pycckuin 43



1.

OTK/I0YeHNEe MUTaHUs

BblkntounTe iMac Pro n otcoeamnHnTe kabenb nutaHus
1 BCe OCTalbHble kabenu.

44  Pycckuin

2.

PasmMeuieHue iMac Pro

PaccTennTe YnCTyI0 MSTKYI0 TKaHb Ha NaocKoi
noBepxHocTU. Yaepxusas iMac Pro ¢ AByx CTOPOH,
akKypaTHO pa3MeCcTUTE ero Ha TKaHW 3KPaHOM BHU3.

PacnonoxuTe HUXHIOKW YacTb akpaHa iMac Pro Tak,
4T06bI NOACTaBKa KOMMblOTEPa BbIXoAWNa 3a Kpai
paboyeit NoBepxHOCTK.

OCTOPOXHO HafaBnvBaiiTe Ha MOACTAaBKY [0 Tex nop,
roka oHa He 0CTaHOBUTCS.



3.

[ocTyn K BUHTaM

YT106bl OTKPLITH NOACTABKY, HEO6X0AMMO MOL, YroM
BCTaBWTb Crel1anbHyto KapTouKy B OTBEPCTMeE Haf,
KpenneHnemM NOACTaBKY, 3aLLENUTb 3aLlenky U 3aTem
HaxaTb Ha Hee. Ha kapTouke 0603Ha4eHbl INHUN.
BcTaBbTe KapToyKy [0 NHUKM @ v npofonxanTe
HafaenMBaTh Ha MOACTaBKY A0 Tex Nnop, Noka AocTyn
K BUHTaM He 6yeT OTKPbIT.

Ecnu kapToyka NpoxoauT Aanblie — [0 MnHWUK @,
3HaymMT Bbl He monanu B 3allenky. Mssneknte
KapToyKy 1 nonpobyiiTe ele pas.

MPEOYNPEXOEHMWE. Vicnonb3yiTe TONbKO KapToOuKY,
BXOASLLYIO B KOMMNEKT apanTepa. Micnonbaosaxune
ApYrux 06beKkTOB NN UHCTPYMEHTOB MOXET
npvBecTu K nospexaeHuio iMac Pro unm ctaTb
NPUYNHON TPaBMBbI.

Pycckuin 45



4.

OTcoeanHeHWe noacTaBku

Mcnonbayinte MHCTpyMeHT T10, 4TOGbI M3BNEYL BUHTHI
[NS KpenneHus NnoacTaeku. B nocnegHiow ovepenp
M3BNEKNTE BUHT, PACMONOXEHHbIA NocepeanHe, npu
3TOM aKKypaTHO MpuAepXu1Bas NOACTaBKY. XpaHnUTe
BUHTbI U NOACTaBKY B 6e30nNacHOM MecTe Ha cnyyai,
ecnv NoAcTaeka CHoBa NoHagobuTcs.

BaXHo. He BCTaBNAiTe KapToUKy B OTBEPCTHE B
Kopnyce nocsne oTCoeUHeHN NOACTaBKM.

46 Pycckuin



5,
KpenneHue ¢naHua VESA

PacnonoxuTe dnaHel, Tak, 4To6bl OTBEPCTUS B HEM
CoBMafany Co WTbIPbKamu Ha 3afHel naHenu

iMac Pro. C nomolubto MHCTpyMeHTa T10 1 natu
BUHTOB M4 x 0,7 MM 13 KOMM/eKTa NocTaBku
npukpenuTe GnaHew, K KOMMbOTEPY.

Pycckuin 47



6.

KpenneHune pepxartens VESA

PasmectuTte nepxatens VESA Ha dnaHue Tak,

4TOGbI WTbIPbKK dnaHLa coBnagani ¢ 0TBEPCTUIMM
nepxaTtens. [lepxaTenb A0OMKeH 3adUKCUPOBATLCS U
He [loNXeH cBo60AHO ABMraTbes. C NOMOLLbIO
MHCTpyMeHTa T10 3akpenuTe gepxaTenb BUHTaMu
M2,5 x 0,45 MM, BXOASALLMMU B KOMMNEKT NOCTaBKU.
BVHTbI HEOGXOAMMO 3aKPYTUTb MOSHOCTHIO — WNAMNKW
BVHTOB [LO/IKHbI BbITb HA OJHOM YPOBHE C
fnepxatenem.

MpumMeyaHue. YTo6bl CHOBA NPUKPENUTL NMOACTABKY K
iMac Pro, BbINONMHSNTE Waruv, onncaHHble B faHHbIX
WHCTPYKUMAX, B 0bpaTHOM nopsake. Ecnv Bol pelwnnu
NPVUKPENUTL NOACTaBKY K KOMMbIOTEPY, BaXHO
NOMHUTb, YTO NPV NoAbeMe NOACTaBKN B UCXOLHYIO
NosuULMIo HEOBXOAVMO BCTaBUTb KapTOYKY B
oTBepCTue kopnyca.

48 Pycckuin

7.

®dukcaumns iMac Pro B MexaHU3Me ans KpenneHus
CnepfyiiTe MHCTPYKLMSIM, BXOASLIMM B KOMMNEKT
nocTaBKM MexaHuama ans kpennenuns VESA.
Y6enuTtech, 4To Bbl ycTaHoBMAM iMac Pro Takum
06pasoM, YTOBbl BEHTUNSLIMOHHbIE OTBEPCTUS CHIU3Y
WK c3aau He Gnoknposanuce. He pasmellaiTe
iMac Pro B MecTax ¢ nnoxoi BeHTUnsUmen
(Hanpumep, B WwWkady).

8.

BknoyeHve nutaHus

MoaknouuTe Kabenb MUTaHNS 1 OCTanbHble kabenu K
iMac Pro.



R%

Jranill Jas iMac Pro J Jusgs

VESA pe 38l sl oy Goladl (ranill Ja pe 5545300 wladaill ol
Bosasll dsgall lass a galins uss IMAC Pro I Juass e oSG
S B ol ($TMac Pro ) s Yy sl i il el S
(e B1358) 4 5qal

A
Blall Jao 53 3ule)
iMac Pro Jb = uslls Ul elles Jum s a3

A

VESA ulics Loy,

8 sl ueladl (g3las i Bl 355 VESA sl e

o oy bl B o g ol 3 35m sl osand) LS
ol el ol Loy T10 8l ausiuel Usgow bl Y5 trpo
ool s o (55l i Bianzill e M2.5 x 0.45

Gl slabaill asl iMac Pro Ju Jelall Jua s 5ol 1dade
Usemsll il JUasl 5l oy e Ca ol sl sia 8
sl s ole] any LWl ansse ) Jolad i) Giansall

iu,all 54



°

VESA il L
c3al 5o sasl aeluadly Bilall 330 sl laadl slilaes 0
Lwadll e sll sslines T10 3l auasd .iMac Pro i g alall
Al Ly ) amill o M4 x 0.7 Lulis

53 2yl



3

Joladl Juad

5L a5 Sl 835 sl all pole A3Y T10 513 2
ol selns 536 Jalal i g a1 2l e
(oAl 8 a5 o 5 Ll el IS 8 el

AMAC Pro I e Jolad) 3] ans Jsemsll Bl J25 Y g

Ll 52



x
ol saeluns iuis

Getanill gyl Joladl dlinia 358 Jpemsl) Gy Jai (ol Jis il
S5eell @ &hill I sy i G5l Jasl e Wiy £Y500 S

sl spolis S Jalal e ST o Lkl o3 sl e

Asladl acls Y31 ks el i 13¢6 @ L) Bl 555055 13

- gl

Ll g 8585800 Jpamsll By (g0 a5 Y 1 jn3a3
ECRRRPSEC IS I RS B IURECIN PPITAC I YU PN
Araia Lol e Lo, iMac Pro i

51 24l



Y A

iMac Pro Jl waags Blall Jund

iIMac Pro I clews (g sieal) rlacall e daulasy dacls (ulad L3 o ydl SIS pans Bl elles Juasl s IMaC Pro J s S a3
Oileall dalad e Laladl 55 ass i daai g G0 e

Joall o IMAC Pro i (i se dalad il Cilsl slilae a3
Gl 358 Glae Jolall 6K eans

i s Jeladl e 385 JiwY hasl

iu,all 50



iMac Pro .U VESA Mount Adapter Jgsas

sls (e G 5ite de sane s dumss YV Lulis IMAC Pro Jl aluasil oli<e, VESA Mount Adapter Jsas cos o
035 ped 4y VESA Jols pe W1 Usall annies ¥ Islall Jalsa f &ulimill ¢ ,391 Jio VESA s 233151l Jaant
oo Al $VESA Jsae coimil olabaill sia sl (a1 51S 4, Vo i oy YY) ol jaladl iMac Pro i
3355 e oSG L VESA go il skl Jrastll Jsla aal IMAC Pro 1 i ss ells say ol *.els alall iMac Pro i
-VESA FDMI (MIS-D, 100, €) jlaa¥l daeal go po <onnins ol VESA ass s

:sle VESA Mount Adapter Jsas doya s 93as

Jsosll Gl VESA sl

T10 slaf

bl 2ol Gy paalae
(2) e M2.5 x 0.45 pulis

&Ll o] (e uelae
(5) pa M4 x 0.7 pulia

VESA &>

e Y s Jae s aels (ulad Labd ) Und pliate
s VA ais VA J5a) Bemy Yo sy T

49 4, LssiMac Pro I _le 3 VESA Mount Adapter Jsss e sldall jan™






© 2017 Apple Inc. All rights reserved. Apple, the Apple logo, and iMac are trademarks of Apple Inc.,
registered in the U.S. and other countries. iMac Pro is a trademark of Apple Inc.



